TELANAGANA STATE ROAD TRANSPORT CORPORATION

No.M1/725(26)/2024-RM:KMM

Office of the Regional Manager, Khammam, Dt. 30-09-2024.

TENDER NOTIFICATION

Sealed Tenders in the Prescribed form are invited form the experienced/ Interested persons/Registered Social Service Organizations /Non-Govt. Organizations/Non-Profit Making Organizations parties for participating in tenders

I.ARTISIANS CATEGORIES AT THE DEPOTS OF KHAMMAM REGION:

S.I.	Depot	Name of the ARTISIAN	<u>POTS OF KHA</u>	MMAM REGION:		
No 01	KMM	CATEGORY (SKILLED)	No.Of Workers Required (Skilled)	D		Tender Form Processi ng Fee With 18%GS
2		a).ELECTRICIAN DC-E-01 b).TRIMMER –E-01 c)COACH BULIDER E-01 d) WELDER, E-01	E-04 (SKILLED)	21438*4=85752/-	80,000/-	T 1770/-
	MDR	a).ELECTRICIAN DC-E-01 b).TRIMMER –E-01 c)TYRE MECHANIC E-01 d) WELDER, E-01	E-04 (SKILLED)	21438*4=85752/-	80,000/-	295/-
3	SPL	a).ELECTRICIAN DC-E-02 b).TRIMMER –E-01 c)TYRE MECHANIC E-01 d) PAINTER, E-01	E-05 (SKILLED)	21438*5=107190/-	1,00,000/-	1180/-
4	KTDM	a).ELECTRICIAN DC-E-01 b).BLACK SMITH, E-01 c)TYRE MECHANIC E-01	E-03 (SKILLED)	21438*3=64314/-	60,000/-	1180/-
5	YLD	a).ELECTRICIAN DC-E-01 b).TRIMMER,E-01 c).PAINTER, E-01 d)COACH BULIDER, E-02 e).WELDER, E-01 f).TYRE MECHANIC,E-01	E-07 (SKILLED)	21438*7= 150066/-	1,40,000/	885/-
6	ВСМ	a).ELECTRICIAN DC-E=02 b)PAINTER, E-01 c)WELDER, E-01	E-04 (SKILLED)	21438*4= 85752/-	80,000/-	1180/-
7	MNGR	a).ELECTRICIAN DC-E-01 b).BLACK SMITH, E-01	E-02(SKILLED)	21438*2=42876/-	40,000/-	295/-

II.SWEEPING, CLEANING AND WASHING OF BUSES (SPECIAL TYPE) OF BHADRACHALAM DEPOT:

ווט	BHADRACHALAM DEPOT:			1 1 1 1 1 and bly	E.M.D	Tender
S.I.	Dep	No.Of Type	No.Of Workers	Payable Monthly	2.7	Form
No	ot .	of Vehicles	Required	remuneration		Processin
			(Unskilled/Semi-			g Fee
		:	Skilled/Skilled)			With
						18%GST
01	BCM	Lahari-2(01) RJD-9 (02) SI-22 (05)	E-08(Un-Skilled), E-01(Semi-Skilled) E- 02(Skilled)PARKING	E-08*16138.74=129110/- & E-01*16676=16676/- E-02*20036 =40072/- TOTAL=185858/-	3,00,000/-	1180/-
			DRIVERS		ANDII DE	DOT.

III.SWEEPING, CLEANING AND WASHING OF BUSES OF YELLANDU DEPOT:

111	.3WE	PING, CLEAN	IING AND WASHIN		1-112	Tende
S.I. N o	Dep ot	No.Of Type of Vehicles	No.Of Workers Required (Unskilled/Semi- Skilled/Skilled)	Payable Monthly remuneration	E.M.D	r Form Proces sing Fee With 18%G ST
01	YLD	Total buses=24 (Exp, Plv)	E-03(Un-Skilled), E-01 Semi-Skilled) E-01(Skilled)PARKING DRIVERS	E-03*16139=48417/- & E-01*16676=16676/- E-01*20036=20036/- TOTAL=85129/-	1,30,000/-	885/-

IV. SWEEPING, CLEANING AND WASHING OF BUSES OF MADHIRA DEPOT:

S.I. No	Dep ot	No.Of Type of Vehicles	No.Of Workers Required (Unskilled/Semi- Skilled/Skilled)	Payable Monthly remuneration	E.M.D	Tender Form Processi ng Fee With 18%GS T
1	MD R	VEHICLES-38	E-05(UN- SKILLED),E- 01(SEMI-SKILLED)E- 02 (SKILLED)PARKING DRIVERS	E-05*16139=80694/- & E-01*16676/- E-02*20036=40071/- Total= 137441/-	2,10,000/-	295/-

V.HSD OIL TOPUP AT KMM,MDR,DEPOTS:

• • •	Name of the Bus Depot	No.Of Workers	Payable Monthly remuneration	E.M.D	Tender Form Processing Fee With 18%GST
01	КНАММАМ	E-03(Un-Skilled)	15103*3= 45309/-	45,000/-	1770/-
02	MADHIRA	E-03(Un-Skilled)	15103*3= 45309/-	45,000/-	295/-

Ziende,

ALUE ADDED ATTENDERS OF LAHARI BUSES AT BHADRACHALAM & AAGUDEM DEPOTS.

	6	Unit	Nature of work	No.of employees required (Unskilled), Semiskilled &skilled)	Payable Monthly remuneration	E.M.D	Tender Form Processing Fee With 18%GST
d a t c	1	ВСМ	Lahari(04)A/C Non A/C Buses, RAJADHANI AC(04) VALUE ADDEDSERVICES	E-12 UN-SKILLED	15103*12=181236/-	1,70,000/-	1180/-
1	2	KTDM	Lahari(02) A/C Buses VALUE ADDED SERVICES	E-04 UN-SKILLED	15103*4=60412/-	60,000/-	1180/-

VII. SWEEPING AND CLEANING OF BUS STATION AND MAINTENANCE OF ITS TOILETS, WATERING OF PLANTS, SWEEPING AND CLEANING BUS STAION ROOF AND CLEANING OF WASTAGE DUMPED AT DEPOT OF THALLADA DEPOT:

S.I. No	Depot	Name of the Bus Station	No.Of Workers Required (Unskilled/Semi= Skilled/Skilled)	Payable Monthly remuneratio n	E.M.D	Tender Form Processing Fee With 18%GST
01	THALL ADA	SWEEPING AND CLEANING BUS STATION AND MAINTENANCE OF FREE TOILETS	E-01 SAFAI KARAMACHARI	19342/-	12500/-	295/- Agreement to be expired on 30-11-2024(UN WILLING TO FURTHER PERIOD)

VIII. SWEEPING AND CLEANING OF BUS STATIONS OF THALLADA:

S.I. N o	Depot	Name of the Bus Station	No.Of Workers Required (Unskilled/S emi- Skilled/Skille d)	Payable Monthly remuneration	E.M.D	Tender Form Processing Fee With 18%GST
01	THALLA DA	sweeping and cleaning b/s	E-02 (UN- SKILLED)	15103*02= 30206/-	30,000/-	295/- Agreement to be expired on 30-11-2024(UN WILLING TO FURTHER PERIOD)

IX. RTC CONSTABLES (SECURITY GUARDS WITH OUT ARMS) ON OUT SOURCING BASIS IN THE BUS STATIONS OF KHAMMAM REGION.

S.I. N o	REGI ON	Name of the work	No.Of Personnel	Payable Monthly remuneration	E.M.D	Tender Form Processin g Fee With
01	KMM	RTC CONSTABLES (SECURITY GUARDS WITH OUT ARMS) (Total=22)	ZONE-I a).KMM-10 ZONE-II a).MDR-01 b).SPL-03 c).KTDM-02 d).YLD-01 e).MNGR-01 ZONE-III a).BCM-04	ZONE-I: KMM-10 16790X10= 167900/- ZONE-II: a).MDR-01=15857X01=15857/- b).SPL-03=15857X03=47571 c).KTDM-02=15857X02=31714/- d).YLD-01=15857X01=15857/- e).MNGR-01=15857X01=15857/- Total=126856/- ZONE-III: a).BCM-04=15546X04=62184/- G.Total=3,56,940/-	3,30,000/-	18%GsT

X. .BOOKING, RECEIVING AND DISPATCHED AT PARCEL AND COURIER COUNTER (CARGO) OF KHAMMAM, KOTHAGUDEM AND SATHUPALLY DEPOTS OF KHAMMAM REGION:

S.l.	Name of the	M- OGWI I			
		No.Of Workers	Payable Monthly remuneration	E.M.D	Tender
No	Work	Required			Form
	*1	(Unskilled/Semi-			Process
		Skilled/Skilled)			ing
		·			Fee
					With
					18%G
				4	ST
01	PARCEL AND COURIER COUNTER (CARGO)	E-22(Semi- Skilled) a).KMM-14 b).KTDM-04 c)SPL-04	a)KMM-14=17843X14= 249802/- b)KTDM-04=17843X04= 71372/- c)SPL-04=17843X04= 71372/- G.Total=3,92,546/-	4,00,000/-	1770/-
			1 0.		

The Tender Schedule is as follows:

a) Tender Forms may be Downloaded from : 20-10-2024

TGSRTC web site http://www.tgsrtc.telangana.gov.in(tenders)

b Dropping of the filled Tender shall be submittedin the tender box at RM's Office, Khammam:

from 10:30 hrs to 02.00 pm, at Old Bus Station, Khammam 12-11-2024

c) Opening of Tender Box for Technical Bid verification and finalization of tenders : 12-17-2024 from 3.00 p.m onwards, at New Bus Station, Khammam

MS AND CONDITIONS: The Tender Document Cost /Processing Fee for each Depot at Various Bus Stations is

	TI	re Tender Document Cost /Processing Fee for each	Depot at Various Rus Stations is as follows:
20,0	No	CATEGORY/CLASS OF BUS STATION	TENDERFORM PROCESSING FEE WITH
\$1000 P	1	MAJOR-KHAMMAM DEPOT	18% GST
	2	"A"CLASS-BHADRACHALAM,	Rs.1500/- + 270 GST = Rs.1770/- Rs.1000/- +180 GST = Rs.1180/-
32	3	KOTHAGUDEM& SATTUPALLI "B"CLASS-KMM(OLD BUS STATION)	
	3	,PLV,YLD,ASPT,&WYRA,VPRM	Rs.750/- +135 GST =Rs. 885/-
	4	'C''CLASS- MDR.TLD,YRPM,JMPM,KLR,DMPT,M NDPL, CHNG,PLR,NKP,GRL,KRPL,CHL,BPD,D MGM, VKP, MNGR, PNPK,SURKSHA,PNPK,ASPM&EBYRM, VMB	Rs.250/- +45 GST =Rs. 295/-

- 02. The prescribed Tender form and terms and conditions may be downloaded from TGSRTC Website. http:// www.tgsrtc.telangana.gov.in (tenders) from dt. 20-10-2024 on wards and enclose requisite Tender form processing fee DD along with Tender form.
- 03. The EMD amount and Tender processing Fee shall be drawn through Demand Draft only in favour of ACCOUNTS OFFICER TGSRTC, KHAMMAM. From (ANY NATIONALIZED BANK). In case of failure to enclose the Demand Draft, in original to the Tender form/application submitted, will be rejected. The EMD amount shall not carry any interest.
- 04. The filled in Tender form shall be submitted in the Tender box in the Office of the RMs Office. Old Bus Station TGSRTC, KMM from 10.30 Hrs up to: 14.00 Hrs. on 12-11-2024 and the box will be opened at 15.00Hrs on the same day in presence of the tenderers or their authorized representatives at New Bus Station, Khammam.
- 05. In case EMD paid by the tenderer is less than what is stipulated in the tender notification or the EMD paid through other means i.e. in a manner other than the stipulated terms and conditions, the tender will be rejected besides forfeiting the EMD.
- 06.In case the amount offered is less than the amount mentioned in the Tender Notification, the tender form/application will be rejected since the value of Contract amount includes the Minimum Wages, PF/ESI with profit Margin. Other things being equal, if more than one Tenderer quotes same rate and found suitable by the Tender Committee, the Contract shall be allotted on the basis of LOTTERY. The Contractor must have PF/ESI registration and it will be renewed with valid date. Further, the Labour license obtained in respect of shops and establishment is not acceptable. The form VI issued by the Dy. Commissioner of Labour / Asst. Commissioner of Labour shall invariable enclosed for verification. (Wherever applicable).
- 07. The Tenderer has to enclose a copy of his PAN CARD, GST NUMBER, Aadhar Card, PF, ESI, Labour license (if any) etc., without fail.
- 08. The Persons who are already black listed or against whom business complaints are pending will\not be considered for allotment of the Contract.
- 09. The detailed Terms and Conditions relating to the above mentioned work contract will be supplied along with the Tender form/Application.(Downloaded).

- 10. The Tenderer's who are offering tender for Buses sweeping and cleaning must be qualify in the Technical Bid and allotment should be based on the Profit Margin offered not more than 10%.
- 11. For any other details please contact concerned Section In-charge only at REGIONAL MANAGER'S OFFICE, KHAMMAM during the Office working hours.
- 12. The Corporation reserves the right to CANCEL the tenders without assigning any reasons thereof.

REGIONAL MANAGER